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X
[20 2x+20 4x+21](2|=0
0
[20x + 4x +40] =0
24x +40=10
_ =40

Y

d . T T

— (\/§ sin (Zx +—) + cos(2x +—)) = ...
dx 3 3

(A) 4cos2x (B) —4sin2x (C) 4sin2x

. i (\/3 sin <2x + E) + cos (2x +E))
dx 3 3
d . m\3 T\l
= = 2 [(sm (2x + ?)T) + cos (2x + ?)5}
= i sin|2x + L) sinZ + cos(2x + L) cos T
- dx 2 3 3 3 3
d T_X

= E 2 cos (2x+?—?)
= (2 cos2x)
= -2sin2x X 2
= —4sin2x

D) £

(D) —4cos2x

ogausl (C)

el (B)
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3. [4, 6] U MRISHIA UHY AL, A5 £(x) = (x — 5)3HL ... 2210141 29ls A(4, 1) dal B(6, 1) il
@Al AHIdR .
(A) (4, 6) ® (2.1 ©) (0, 5) (D) (5, 0)
B3d : A4, 1) A B(6, 1) 6l y = (x — 5)2 Uz 9,
= (x — 5)% 2 [4, 6] AUdd 24 (4 6)Hl [Asa-ly 0.
HeysHid uHY uRdl ¢ € (4, 6) HA 5 %l
£(e) = f(b) f(a),a=4,b=6 ol Ad :
f@) = (x -5y ABHL 2 = 0
f'x) =2(x -5) £ =0
6 4
=35, =0
2(c—5)=%=0 ‘< f_(c)
“idle [6ig (5, 0) ©.
c=5
f(©)=0
“idle [Big, (5, 0) €. gael (D)
. (logy 2x)1°8x8; x 21 o
4. o [A%y f(x) = 3 x =129 Add &1 dl k= .........
(k-17; x=1
1
(A) e+ 1 (B) €3 (C) & (D)e— 1
B3a : f 2 x =1 N Add .
lim £ (x) = £(1)
x—1
lim (log,2x)1°%8 = (k - 1)
x—1
im (log,2 + log,x)3lo8x? = (k - 1)
x—1
N3
(hm (1+1log, x)l()gzx] = (k- 1)3
e3=(k-1)3 (lim log,x = 0)
x—1
e=k-1
k=e+ 1 gt (A)
dx TC)
= 0 -
. Jcosx\/1+cos2x+sin2x """"" te ( <ty
(A) 2 + yJcot x (B) jtan x+1 (C) J2+2tan x (D) 2+ 2cot x
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Gia : J
6 - J Sin 2x
: Sin 5x sin 3x
(A) sin5x
sin 2x
Sin 5x sin 3x

dx

dx

CcoS X \/1 +cos 2x + sin 2x

dx:

| Sorseme
J
J

|
—

2 .
Ccos X \/ZCOS X +2sin x cos x

dx

LJ B —
V2.1 cos®x\J1+1an x

J‘ sec’x

J1ttan x

2 Jl+tanx + ¢

J2+2tanx + ¢

sk

S

% log | sin3x | — % log [ ()| + ¢, dl f(X) = oo

(B) sindx (C) sin2x (D) sin6x

sin (5x — 3x)
sin 5x sin 3x

Sin 5Xx coS 3X — cos 5x Sin 3x

sin 5x sin 3x
cos 3x J‘ cos 5x
Sin 3x sin 5x

%log|sin3x|—% log | sin5x | + ¢

pO) +p() +p2) = 1

43 +4¢ — 132+ Te—1=1

f(x) =sinSx
Yelos Ad X Actadl [Ada X {la 2uie 9.
X=x 0 1 2
px) 4¢3 de — 132 Te—1]: ¢>0,dlc= ...
(A) 2 (B) 1 © + (D) 1 »a 3
1 2p(x) =1

4¢3 132+ 1le—=2=10

(c—1)@c2-9%+2)=0

c# 1 dlaEl, 4¢2-9¢c+2=0

(c—2)(4c—1)=0

c#2 ¢l c= % (A c=1284 ¢ =2 dl 4¢3 > 1 dlandl)

% (C)

ogalsl (A)

%aiet (C)
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G3q :

G3q :

10.

B34 :

(Guel [Adresd Aeuan [@8% p(x) = (ijpx g@® % x=098.1,2,..,6.

oA 2p(2) = 3p(3), dlp = .........

(A) (B) + © 1 (D) 1

W=

q=72p
1-p=2p
p=1 g6l (A)

2
w295 A Xril Heds A W [ uetsA 10 27 5 A d, E[(X‘IS) J =

(A) 4 B) 3 © 2 (D) 5
weys E(X) = 10

UHIBLA [Quad = 5

6,2 =EX? - [EX)]* =25

E(X?) - 100 = 25

E(X?) =125

1e\2 X% —30x + 225
N

= = EX?) - SEX) +9

=125 _ 6 10+9

I
D

[
—_—
[\
+
O

=2 el (C)
AL Uldoldl glRl ssl adl asd Gia-l uea-i BRIGE (0, 10), (5, 5), (25, 20) 244 (0, 30) €.
QL5 2= px + qp, B4 p, ¢> 0. z L Hedd (25, 20), (0, 30) L0 HA d HI2 p 2 g BUHl ARl ... .
(A) S5p=2¢q (B) 2p =5q ©) p=2q (D) g=3p
z=px+ qp, (25, 20) 2 (0, 30) 120 HAH .
25p + 20q = 30q
25p = 10q
5p=2q %6 (A)
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11.

12.

G3a

6 4% afx2 + biy2 =1;(i=1,2), (ay # a,, by # by, ay, a,, by, by # 0) do129€l €14 dl, ......

©) a7 ' +a, =61+ by (D) ab, = ayb,
: a1x2 + bly2 =1 a2x2 + b2y2 =1
d d
2a\x + 2by d—i =0 S 2a,x + 2byy di =0
D ax LD ax
dx by odx b,y

asl doiA9e]l €9,

(_ﬂ) (_Mj _

by by)

X _ bb

7 A (1)
aoll, ax? +bp? = ax? + by =1

(a; — az)x2 = (by — bl)y2

R (2
(1) 24 (2) u=dl,

by-b _ _bb

a-a aqa,

bh-b  a-aq

bb, qa,

-1 -1 —p -1 -1

oL ARAAL 61l x A y 9 dal y = x + xZ. oflol ARAUAL AAsAAL UM ARAUAL AAs0 ALY 82

(A) x2+3x—1 (B) 2x2=3x+ 1 (C) 2x2 +3x+ 1 (D) 1 +2x

DHIRL S X dAl y ol ARUAL AASOL u dAL v 9.

u=x> dav=)>
ol y = x + x2
v=(x+x3)?=x2+2x3 + x4

edu=x2 v=x2+2 +xt
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du _ v _ 2 3
dx—2x, dx—2x+6x + 4x
dv _ dv  dx
u dx du
_ 2x +6x% +4x°
N 2X
=1 + 3x + 2x2 gaisl (C)
13, 32099 < 2R~ A ... 23
(A) —0.9967 (B) —0.9976 (C) —1.0033 (D) -1

L
B5a : MR 5 f(x) = —x?

Wl

f'@) = 3%
QL s a=1, h=-0.01
a+h=1-0.01 =099
fla+h) = fa)+ hf
£(0.99) = £(1) - 155 £'(1)

- L (-1
-1 - 100( 3)
_ -300+1

T 7300

—299
300

= -0.9967 ol (A)

I

14. JL;x>l= ......... +c
x_

(A) 7 log \x10- 22 442 (B) 7 log | x10— 2|
(C) —1 sec (% (D) + sec”! (x%

G | =2 - |2

= lsec‘l(x“) +c ¥alel (D)
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15. JeSi”x(xcosx—secxtanx)dXZ ......... +tc, 0<x<=

(A) "™ (x —sec x) (B) e (sex x —x) (C) 5" x cosx

B3a : Jesmx (x cosx — sec x tan x) dx = Jesmx (X— 3 j cos x dx

YR S = sin x

dt = cos x dx
. 1

I = |ef |sin t—
" 1

— |t |Sin 1+

R
= | (Sin_lt'f—

~
= et (Sln_lt +

[

= el sin 1t — ¢! .

= pSin x [x—

4

X
(sin_lt)) di — |ef | =—+4| 1 dt
dt N e i

sin x

cos X

t

dt
(1-13)2

1t p
2 3 {
Ji-22 -t 1-2)7

1 +
dr — | e 3 |dt
1_t2J \/l—t2 (1—t2)2

1
J1-1? e

1
COSX) te

= ¢S (x — sec x) + ¢

ollw d

(D) e5i"* (x + sec x)

Jesim (x cos x — sec x tan x) dx = [x "™ cosx dv — [e5 sec x tan x dx

= &SI (x — sec X) + ¢

16. Jsin 11x sin®x dx = ... +c

sin10x sin'®x
(A) - 10

Gia : fsin 11x sinx dx

a1l
S X
B 11 9

= fsin (10x + x) sin’x dx

= f (sin 10x cos x + cos 10x sin x) sin’x dx

= fsin 10x sin’x cos x dx + fcos 10x sin'Ox dx
= sin 10x fsingx cos x dx — f(lO cos 10x fsin9x cos x dx) dx

10

= % sin 10 x sin'% + ¢

sin9x sin’x
C) ——

x S Iesmx dx — 5" sec x + Iesmx dx

el (A)

cos10x cos'x
D) - 10

+ fcos 10x sin'%% dx

. 10
sin 10x SLX _ [ ¢inlOx cos 10 x dx + | cos 10x sin'O% dx

a6l (A)
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log3 e’ —1
17. [ cor' | ) ax = .........
—log3 e+

(A) %log 3 (B)m log 3 o (D) m log 9
log3 e* —1 log3 x
Ga : [ cor'! ( P j dc= | %— tan”™! —ex LI ax
—log3 e +1 —log3 e’ +1

. log3 log3 e 1
=3 [ 1edx— [ tan™! - dx
—log3 —log3 e +1

log3 ex -1

= % [xX] s — 0 (f(x) = tan™! (exﬂ

j 204, (48 2“9.))

= %(log 3 +log 3)

_n
=5 X 2log 3
=1 log 3 g (B)
1007
18. [ lcosx| dx = ...
0
(A) 200 (B) 100 (C) 50 (D) 0
. 100n 1o
B%a : [ |cosx|dx =100 [ |cosx|dx
0 0
A T
=100 | [cosx dx — [ cosx dx
0 3
=100 {[sin x]o7 —[sin x]g}
2
=100 [(1 —0)—(0—1)]
=100 (1 +1)
=200 g (A)
e
19. [ (x — [sinx]) dx = ........ ([x] 2L x4l 2ABs A<l ddl Hedu yals 8.)
0
n? n’ n? n?
Aa) -2 ®) & | © &1 D) &
z z z
2 2 2
B : [(x — [sinx]) dx = [xdx— [[sinx] dx
0 0 0

[sin x]dx=0

Il
1
nﬂ*@
| — |
NIE]
O —of3
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20.

21.

G3q

oyl |

2 N . N AN ~\
Guady %er_ = 1; (a > b)l 6 -ddadl g4 &esn =

b2

(A) 2b(be + asinle) (B) 8b(be + a sinle)

y2

) 2 N
P Guaand wilse 545 = 15 (a > b) B

b2

oo

y=i% 2 _ 2

AUlMdol dal Guadd gkl HR1Ad axAsn

ae

=41 1= [ 22 2
0

B 2
_b|x 2 2,4 g-lx
1 aza x+2sma

L 0

ae

B 2
= blae |2 2% 4 giplae g
a 2 2 a

2 2

golsn =4 [1]|=4 x %[be-kasin_]e]

= 2b [be + a sinle]

f(x) = sinTtx 2 X218 gl x € [—1, 2] HI2 dy¥d &5 ......... 3

8

(A) 8T B)

Pf(x) = sin T x A X-ve gl

x € [-1, 2] 12 ddd asn
A=3]1]

1
f Sin T x dx

......... (e Gcswsdl 9.)

(C) b(be + asin'e)

A

B 2
= % aeb +a_sin—le} = %[be + asinfle]

© 2

AV

X = —ae

=/==

oot (D)

(D) 4b(be + a sin”'e)

X = ae

(D) 67

w6l (A)

1391



22.

G3q :

23.

G3a

24.

G3q :

_ 1 N cos 0
I COSTU
_ L1
I Y
- 2
I’
~ 2 6
dasn =3[1|=3x = = ¢ %aie (C)
Y . d
[Rise alse (Efj + d—)yc = Jx; x>0+l sel dan uRH s 8.
(A)2 24 6 (B)3 i 2 (C)2 > 3 (D) 2 2 uRHIRL A vU1 R 9
Y o d
Bsa wilse || + 32 = Jx il 8.
dx dx
sal 2, Rl 3. g, (C)
SIS asdl valMdor 220 i dal ds GLEbigHEl AR wd dl dd ddlse ... 8.
A) x2+y2 =k keR B) ¥ =k ke R
C) x*=h*keR D)2 -2 =k ke R
. . . dy & k ~
: Mol dous  y S5 (RS ERL)
y@=§ﬂ
[y ay= % [ ax
2
Yy —k <
S )
V2 =kx +c
d Glorfbiguiall wiR 9.
=0
SyP=hkx, ke R gauel (B)
i 520 dy 1 N N
s wlsrel — = g7l Aseisis wadd ... 0.
(A) ertr*2 (B) ¢ C) e (D) log |x +y + 2]
dy _ 1
dx  X+y+2
% =x+y+2
cdl_; —x=y+2
dseisins viaud = o PV = oAb = o el (C)
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25. A T+b+c=0 ¥ |7

=3, p|=51¢1=7» (@
2T T T S5TC
(A) 5 B) © 5 D) <
B4 : G+b+c=0
atb =-¢
lz + 5=

@P+2a .5 5P =(2P
9+2|allp | cosa+ 25 =49

_49-34
cos 2x3x5

. 15
cos A = 37373

_ 1
cos O = 2
a=1 el (C)
Y % ~ % N N
26. A(1,-2,4),B(5, -1,7), C3, 6,-2), D4, 5, —1) 412 AB+lL CD 4 Y¥au ......... 0.
(A) 23,-243.243) B) § & 13
(C) (19 _19 1) (D) (23 _25 2)

G3a : A(1, -2, 4), B(5, —1, 7), C(3, 6, —2) »iL D4, 5, 1)
AB =G5, -1, 7) = (1,-2,4) = (4, 1, 3)
%
CD=(@4,5-1)-@3,6,-2)=(1, -1, 1)

- =
[ 2 ]CD

%
ICD!

— = —> =
AB-l CD 4R M&u

_ (4,1,3)-(,-1,1)
= —mn (L-L D

(4-143)

== (1, -1, 1)
=& -1
=(2.-2.2) oaet (D)
27. Al 2d AlRa (4, 2, -3) 9. Ad XY-uudadl dot vid2 p; © dal dd Y-uael do 2id2 p, 9. dl
2 S
(A) 8 B) 3 ©) 2 (D) 7
B3a : (g A(4, 2, -3) 9.
A XY-uudadl dot sid = | -3 |
P~ 3

1393




28.

G3q :

29.

30.

B34 :

A< Y-oigell dot vidz p, = (42 4 ;2

= J16+9

L op tpy=3+5=8 FUs (A)

AMdA ax + by + cz = 1 2 A, B, Cul 88 8. % G(%,‘?l,l) 2 AABCs wedws Qi dl

a+b+3c=..... .

(A) 2 B) 4

~
@)
p—

[EN
~
)
N

|

]
~—
@]
—_—
L
L
o =
~——
£
&
o
&

AUdA ax + by + cz = 1 8l A(é,(), 0), B(O,
i P A 1 1) _ (1=
AABCA ees G £, L) = (L.541)

1 L
3a 6’ 3b 3’ 3¢
a=2 b=l c =
Tat+tb+3¢=2-1+1=2 el (A)

Bx=4z+3,y=2-3z- RO a, P2 y &, dl

cosaL + cosP + cosy = ........... .

A = B) = ©) 1 (D) 2

pvd AW x =4z + 3,y =2 - 3z

=

B Y 2o, =am=3,n=1 3l 2+ md+nd=26

A |
|
W

Y 4 _ l
¢d, cosal + cosP + cosy = Tt (ﬁ) + T

-~ ool (A)

s UHAAAL Ao, X-ta, Y-2ig, Z-va-l 4 (2ol A8 245¥ %, % % WYL BRI oteld €9,
Glorlbigal Anda uR elal dot-ll doils 2 8. dl Axdad wHsW e :

A x+y+z=2 B) x+y+z=1 € x+y=2 D x=2

Adrll Mol X-ota, Y-218 dal Z-218 Ale s % % , % YL bRl oild .

. _ T _ T _ T
Sl e
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p — o (Mde) @3unl Audd-d adlse
x cos o+ y cos P tzcosyY=p 0.
T

x cos +ycos% +zcos%=\/§

x X =

\/5+\5+0 2

x+y=2 g (C)
3. Af:R- B > R- 3w = o5 B, dl .

A @ =2/ B &=k ©) 0=+ D) [l 2k 2l
B3 : f: R - {%} — R - {l}

5 RN _ax+b .
_3x+1 WA f) = gy U
f(X) - 5x-3 _1 dx-b
/) = =oa
~ 3x+1
¢d, f(x) =y = 3573 =V 3x-1
T 5x+3
3x + 1 =5xy — 3y S
I +3y=>5xy—3x X3
_ 1+3y
Y= 5y-3
. _3x+1
7)) =553 = /) sue (B)
32. Af:R>R, f(x)=3x+2,g:R >R, gx)=06x+5,dl(gof 1 (10) = ......... .
(A) 21 (B) 29 ©) 7 (D) %
Ba:f:R—>R, f(x)=3x+2,g:R >R gx)=6x+5
R B 5 fdul g s dUl Al (AR 9,
1 R > R uR@ 4214 & 24 fl(x) = x;Z
gof 't R >R, (gof ) (10) =g(#~'(10))
10-2
“8\T3
= o(2
‘8(3)
o) s
=16+5=21 gl (A)
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33. Rl S={(1,2), 2, 1), (2,3)} 2 {1,2, 3} u AURd O d .......... .
(A) u3ulRd -l (B) aldd & (C) s 9 (D) AR
Bsa : S={(1,2), (2, 1), (2, 3)} > {1, 2, 3} uz avalud 9.
e 85 SuulRd 4l ((1,2) € S, (2, 1) € Suig (1, 1) ¢ S) g6l (A)
34. tan Ncot x) + cor Wtanx) = ......... (@l 0 <x < %)
(A) % (B) 2x (C) m™—2x D) T —x
B3a : tan (cotx) + cot (tan x)
= % — cot Y(cot x) + % — tan \(tan x)
=T — (x + x)
=7 - 2x g (C)
35. cos (2(tan™! % +tan 1 5)) = ... .
1
A) 7 (B) 0 © 1 (D) -l
B3d : cos (2(tan™! % + tan1 5)) = cos(z'%)
= COSTC
=_1 g (D)
36. AABCHIL % A=tan'2,B=tan!3,dLC = .......... :
T T T 5T
A) I ®) = © = D) &
B%a : AABCHL A+B+C=m ofley 3d :
A+B=1_-C tanA + tanB + tanC
a2 4 tan13 = — C = tanA tanB tanC
- 2 + 3 + tanC = 6 tanC
1=t —
tanlcis)——c tanC =1
c=1n
tan ' (-1) = —C 4
C= % gauel (B)
37.  Busasl BRibigl (2, 5), (7, k) dan (3, 1) 2t astsn 10 €1, dl k4 Hed oL

(A) -5 aal 35

B3a : Bsani BRI (2, 5), (7, k),

(B) 5 il —35

(3, 1) & 27 &z 10 8.

(C) 15 »adL -5

(D) —5 aal 25
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2 51
A=1ID|., D=7 k 1
31 1
=2(k—1)—5(7 = 3) + 1(7 - 3k)
=2k-2-20+7-3k
=—k-15
A =10= 1|-k-15]=10

k+15=20 »adl £+ 15 =-20

k=5 28 k=-35 6. (B)
k+r p q
38. Whk=p+qg+r,d|r kt+p g |1HA .. 0.
r p  k+gqg
(A) 2k2 (B) 2i3 ©) © (D) 3k?
B :k=p+gqg+r
k+r p q k+r+p+gq p q
r k+p q | =|r+tk+p+tq k+p ¢ (Cyy (1), C5,(1))
r p k+gqg r+p+k+q p k+gqg
2k p q
=2k k+p ¢ (Ck=p+tqg+r
2k p  k+gq
L p q
=2k |l k+p ¢
1 p k+gq
L p g
=2k|10 k O
0 0 %
=2K3 sl (B)
1 —cos® -1
39. D= [0 1 =00l i wina qan untdn et wiesil p dal g G Al 2p + 3G =
1 coso 1
(A) 16 B) 6 (C) 14 (D) 8
1 —cos® -1
Gid : cos0 1 —cos9
1 cos9 1
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40.

=1 (1 + cos?0) + cosO (cos® + cosO) — 1 (cos*0 — 1)

= 1+ cos?0 + 2c0s*0 — cos?0 + 1
=2 (1 + cos?0)

0 < cos?0 < 1

1< 1+ cos?0 <2

2<2(1 +cos?0) < 4

p=4,q9=2

8d, 20 +3¢=2x4+3x2=8+6= 14,

(A) 2714 ®) 51,

4
4
1

>
A8}
|
)
>
Il
.

1
4
4

A = A

=124 33 24 —24
124 24 33 —24

(33 24 24} -6

(©) 201,
1 4 4
— 6|4 1 4
4 4 1
24 24 27 0 0
6 24| =10 27 0
24 -6 0 0 27
=271,
o000

(D) 301,

g (C)

gl (A)
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